

Je pars de:

$$\left(p + \frac{a}{V_m}\right)(V_m - b) = RT \quad (\text{j'utilise les volumes molaires c'est plus clair})$$

Ensuite:

$$\left(p + \frac{a}{V_m^2} * \frac{n^2}{n^2}\right) \frac{(V_m * n - b * n)}{n} = RT$$

La, j'applique $V = n * V_m$, donc:

$$\left(p + \frac{an^2}{V^2}\right) \frac{(V - b * n)}{n} = RT \quad , \quad \text{ce qui est strictement equivalent a :}$$

$$\left(p + \frac{an^2}{V^2}\right)(V - b * n) = n * RT$$

On est bien d'accord?

This document was created with Win2PDF available at <http://www.win2pdf.com>.
The unregistered version of Win2PDF is for evaluation or non-commercial use only.
This page will not be added after purchasing Win2PDF.